Quadratic Inequality (HKMO Classified Questions by topics)

1986 FI1.2
EFEN2C-6x+4<02 25 1<x<b f£bhiE o

If the solution of the inequality 2x> —6x + 4 < 0 is 1 < x < b, find the value of b .

1989FG8.4

3t -5t—-2<0 z‘v’ﬂﬁi{—%<t<m o Kkm g o

The solution for 3t2 —5t—2 < 0is —% <t <m. Find the value of m .

1997 FI1.4

3 ENX2+5Xx-6<0f2 5 d<x<1o kdhiE o

The solution of the inequality x? + 5x — 6 <0 is d < x < 1. Find the value of d .
1997 Fl14.2

FHEN2C-X+9<0:hfE 5 k<x<b: Rbhi -

If the solution of the inequality 2x*> — 9x + 9 < 0 is k < x < b, find the value of b .

1999 HG1

¥ a & PR a®-2a-15<0> & a thk o

If a is a prime number and a — 2a — 15 < 0, find the greatest value of a .
2005 HG8

WX LFEeF hE x kb r @ ® 2(log, x)>+9log, x+9<0 >
2 2

Foh g o

Let x be a real number. If h is the greatest value of x such that

2 (Iog%x)2 +9 Iog%x +9 <0, find the value of h .

2007 FG1.3

KPZ2P+2 25 gy i PP +2)<2007 -

ESEBL PR RAFHP o RS chiE o

Let P and P + 2 be both prime numbers satisfying P(P + 2) < 2007.

If S represents the sum of such possible values of P, find the value of S .

2011 FG14

F X 5 - E#s log, (2x+1)<log,, (x—1) » F x ek % i -

If x is an integer satisfying log ,, (2x+1)<log ,, (x—1),

find the maximum value of x .
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2012 HG10
B-BEP O RATRECFILAB FLEFEL - S L P R ok g
PAES ek BT FRESDREG 60T 0 TREL P ARG NS
EICEE LRS- SR ST SEEICEEEEIRY
In a gathering, originally each guest will shake hands with every other guest, but
Steven only shakes hands with people whom he knows. If the total number of
handshakes in the gathering is 60, how many people in the gathering does Steven
know? (Note: when two persons shake hands with each other, the total number of
handshakes will be one (not two).)
2017 HG8
W BT B EGEE T vl afi £ T2-11T-23
Rz &2 Fie2 fo 0 S i o
Let positive integers, T, satisfy the condition:
the product of the digits of T is T2 — 11T — 23.
Find the sum S, of all such positive integers.
2019 HG7
#% f(x)=-6x*+4xcosO+sin0 - ## 0°<0<360° ¢ 44t F Hc X -
fX)<0° % 0 ehdx B B2 L5 d° & daiEo
Let f(x) = —6x% + 4x cos 0 +sin 0, where  0° < 0 < 360°. If is given that f(x) <0
for all real numbers x . If d° is the difference between the greatest and the least
values of 6 , find the value of d .
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Answers
1986 FI1.2 1989 FG8.4 1997 FI1.4 1997 Fl14.2 1999 HG1
2 2 -6 3 3
2005 HG8 2007 FG1.3 2011 FG1.4 2012 HG10 2017 HGS8
8 106 3 5 13
2019 HG7
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